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(¥) ©IZSHUSH 7 [What is divergence?)
W:I\=Ax’i\+Ay3\+ Axﬁr@aﬁx,ymzﬂmﬁwmﬂ?mii-@
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(¥) EOOR TN WFE T GF TG R9S I (State the perpendicular theorem of
moment of Inertia-]

(%) mifSErem F? [What is cantilever?]

(¥) TR J7 PICP 01?7 [What is breaking foree?|

(8) &R® (J07IT SRS WS | |Define terminal velocity?|
T : ofec @ e s sfewy Fae 2R oife sfkme 31 o 21, OIS 2 @
qCT |

(%) Wm@ﬂ’ [What is constructive interference?|
(B) TSR IS FIEF 02

[What do you mean hy polarisation of light?]
Te7 : @ afimmy e St F= M ST S9HE G WWE ©F 9199 FTEN Gl AW
ST ST NS I 27 |

(%) wreea AfS Jr |What is Fermat's principle?]
T : afowire 91 2fee 20a e T3 9F 7 s w9 faqre I o «ft 3iémT Fgey
o S FCA |

() 1 (ST IS 17 |What is displacement vector?|
() ST 7RIE 17 [What is elastic collision?]
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(%) iftr < P17 [What is grating constant?]
Be7 : aftwmm mreif 9o Bren wassl g SR @bwm it Bres oF o =kt
ot & +ife magre @it 3= A1 c@fbe B 3w |

(%) e afewae Fte [What is double refraction?]
Be7 : @I Y (@R SR AR W47 e e A0 e e 9B ot Aferrs A e
= 2 AR (a0 ST I |
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@RI ¢fb Areg Teg wre- 8X & =20
(1,2, - 1) SR A = 2071 + 77 + (o7 + )k @ o e
[Determine curl 4 at the point (1, 2,-1)
where 7 =2 + yj:sf + |fyJ + :");rl
© | @I SR TRE afs 9w @ afet 79 |
[State and derive the conservation law of angular momentum. ]
81 FeR 37 = sreiifre e AT s w9
[Deduce the expression of work done by the spring force.]
@ | REE IEIE R = 6.4 x 10°m, AETIG a4, g = 9.8ms™ YR TZFE FIF G = 6.67 x107'Nm’kg™
70 #ffidE o9 @ g fadf 4
[Determine the mass and density of earth, where radius of earth, R = 6.4 x 10°m, acceleration due to
gravity, g = 9.8ms™ and gravitational constant G = 6.67 x 10™"'"Nm’kg™)
Y| BReTE Seemmr Rge e ofm e 79
[State and prove the Torriceli's theorem.]
Q| B SN TAFT FAFAT, y = 10 sin(50t + 0.07x); QA 0y WOMA G 707 CLHTE &S |
AR fwE, T, S @ eemde NedE |
[The equation of a progressive wave is y = 10 sin(50t + 0.07x), where the length is expressed in meter
and time in second. Find the amplitude, frequency, wave length and velacity of the wave.]
bl G e 8 TR (IR SRSt WOHF ST =+ |
[Write the difference between Fresnel and Fraunhofter classes of diffraction. ]
51 AffeFerRg oue 9 @, TFF @ FUAIR S 20O A 7 |
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[State and prove Gauss's divergence theorem. ]
5 | (F) I (FSA CHE =S SeEw @i e I q

[Prove the conservation law of energy in case of simple pendulum.]

() 1000 kg o639 @6 M 72kmh™' @01 9B (T SIS I 4 x 10~sec @ 59 2% | 09 o
fda @) o
[A car of mass 1000 kg with velocity 72kmh™ striked on a wall and sloped within 4 x 107 sec.

Calculate impulsive force.]
5 | FEEE ST g @ aifsdt 7 S0
[State and establish Bernoulli's theorem.]
3O | (F) (A @, (LA SFT AV IO SO Sfofae b1

11
P—zT(rl+rD,ama@W{{asﬁr€w@fmm1 q

A Cre - 1 1
[Show that the excess pressure inside a curved surface of liquid P = 2T (r_;+r_) where the

symbols have their usual meanings.]
(¥) 10 ELI, JERFE 9% TRW 90 CoF FA00 e 2Rwm W 33 | TR «ffFa =6 30
SIEF/GIL | o

[Calculate the amount of work done in the formation of soap 3 bubble of diameter 10 cm.
Surface tension of soap solution is 30 dyne/cm.]

38 | (F) (A8 (@, YA (AT 70T I4AT FqCad ol & S e STa TACIe S 2 | q

[Show that a resonant pipe open at both end produce all kinds of odd and even harmonics. ]
(¥) 512 Hz 1054 @0 {82 TF (I Sl eTd 16.7em G2 50 cm CACS TAEHH AT 8

oSt wgam 2 33 | *iewa ot faet 9 ) ©

[A resonator pipe produce first and second resonance at the 3 length 16-7 cm and 50 cm

respectively with a tuning fork of 512 Hz. Determine the velocity of sound ]

5¢ | G FTOMAIT! TCHT NS AU I A 0 (FIRIOR GR SPICT @FRIPR ToF ovea fadera
FiférrE ey <9 . so
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[Drawing optical path of an astronomical telescope, determine and expression of magnification in

near focusing and focusing at infinity. ]

W (¥)

(%)

M1 (F)

(*)

e fgaet 6afGr a1 AT G2 AT GFIF A OAAAG [ WoTd AN M FA 9

[Determine wave length of a monochrometic light with the help of transmission grating

experiment. ]

TR @7 [-BT HrFm @}ifm qioe + @R @Y 0. 1mm YR GERIRR 209 W 795 50 cm
oINGTT (5171 | @T AFFE 5000 A TIHACHT ST FITS 20T (FQT 5IT IO AT AN R
nag fAdfa w11 o
[In a double slit Young's experiment distance between two slit 3 is 0.1 mm, distance between slit

and screen is 50 cm, length of light wave is 5000A. Determine the distance between central
bright fringes and first order bright fringes.|
@3B TN ATSHT CIFIFE STA6R (TR WL 56T TSN AIAT WCHFF FACATE TOOR

I @ GERITeR IPTE T 1) ¢

[Calculate the moment of Inertia and radius of gyration of a 5 uniform thin circular disc moving
along an axis perpendicular to the center of the disc.]

CPEICE I (A N o eifiedr 7 | e

[Derive gravitational law from Kepler's law ]
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